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1. Answer the following questions (any five) : 1x5=5
T PR Oed R (AT #isby)
a) 'Thought is abstract?' Is it true?
ow == 578" | G205t ey 77 (72
b) Who wrote 'How we Think'?
‘How we Think’ 83479 (14T (FI ?
c) Is Socrates a critical thinker?
RGO GE FACEADAIGE G 2 (72
d) 'Thought is an Active form of knowing.' Is it true?
‘fout a1 Tl AT feFar— G5! T 2 (71?
e) Isegocentrism a barrier for critical thinking?
I Tde] FAEDARET B g g7 (72
f) Name one benefit of critical thinking.
SNBSS BRR Go! JRyr 71 B |
g Who wrote the book, 'Asking the Right Questions: A
Guide to Critical Thinking'?
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‘Asking the Right Questions: A Guide to Critical
Thinking” 224+ (574 (FI ¢
2. Answer the following questions briefly (any five) :
©or Rl Afohr 2iq 5y Ted e 8
a) State two tools / elements of thought.
DR R 151 s 31 SeAmiee a5 |
b) What is thought?
ot FiF @Mee
c) State any two barriers of critical thinking.
Rore beR R 1ot efsssee S 74|
d) What is conceptual thinking?
Ao e FE @iEe
e) What is meant by rationality?
Fhewol A 2
f) What is a short quote?
Y O ST &2
g) Who is a 'critic'?
FNEDF d&w (i 2
3. Answer briefly (any two) :
e Ted fordl (R 75 ¢
a) What are the techniques of asking right questions?
T el G (PR S fe
b) Discuss briefly the ‘Barriers' of critical thinking,
TSR B A4 e Rag s = |

2x5=10

5x2=10
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c) What are the benefits of critical thinking?
oI <1 FIEvANR beE SriwRertg F 2
d) What are the characteristics of a good critical thinker? A
G Ofs] AT b @iE F e
Answer broadly (any fwo) :
s B Bl (R KB) ¢
Define critical thinking? What are the characteristics?
RS e A &l | @RS S
4l
b) What are the characteristics of thought? Explain.
four RREEENE & e g 1
c) What is paraphasing? Explain.
AT FIF (AT 2 Do 4
d) Discuss the Socratic method.
T oFer! Il |
e) Write elaborately on training of thought.

oo Srpere Rac fRegis Bl
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